1.
Sapna makes up a game using seven cards.


Here are the cards.

[image: image1.png]




Josh picks a card without looking.


If Josh picks an odd number then Sapna scores a point.


If Josh picks an even number then Josh scores a point.


Is this a fair game?
Circle Yes or No.

[image: image2.wmf] Yes / No

Explain how you know.
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...........................................................................................................................................

...........................................................................................................................................

...........................................................................................................................................

1 mark

2.
Class 6 count how many seeds they find under two trees.


They show the data in a graph.
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How many seeds did they find in week 3 altogether?

[image: image5.wmf]seeds


1 mark


In how many weeks did they find more than 40 chestnut seeds?

[image: image6.wmf]weeks


1 mark

3.
Here is a spinner which is a regular octagon.


Write 1, 2 or 3 in each section of the spinner so that
1 and 2 are equally likely to come up and
3 is the least likely to come up.

[image: image7.png]



2 marks

4.
Abbie takes the temperature outside at midday on the first day of each month.


The graph shows her results from January to December.
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How many months on the graph show a temperature between 10°C and 20°C?

[image: image9.wmf]
1 mark


Find the difference in temperature shown on the graph between July and August.

[image: image10.wmf]degrees


1 mark

5.
Here is a sorting diagram for numbers. 

Write a number less than 100 in each space.
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2 marks

6.
A school has a quiz each year.


There are two teams.


Here are their results.
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In which year did North beat South by 100 points?

[image: image13.wmf]
1 mark


In which year did South beat North by the greatest amount?

[image: image14.wmf]
1 mark

7.
Some children ran in two races on sports day.


Here are their times.

	
	100m race
	800m race

	Elise
	15.9 seconds
	3 minutes 02 seconds

	Jake
	19.7 seconds
	2 minutes 58 seconds

	Teri
	16.8 seconds
	3 minutes 01 seconds

	Neil
	17.1 seconds
	2 minutes 59 seconds

	Barry
	18.4 seconds
	2 minutes 57 seconds



Who finished the 100m race in second place?

[image: image15.wmf]  [image: image16.wmf]
1 mark


In the 800m race, how many seconds did Barry
finish ahead of Elise?
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8.
Here is a diagram for sorting numbers.


Write one number in each white section of the diagram.
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2 marks

9.
Look at the list on your answer sheet.


It shows the price of pizzas.


How much more does a large pizza cost than a small one?

10.
One number is in the wrong place on the sorting diagram.


Put a cross ([image: image20.wmf]) on it.
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1 mark

11.
Four children run in a race.


Gemma takes 5 minutes 20 seconds.


Complete the graph for Gemma.
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12.
Write these numbers in the correct places on this sorting diagram.

16         26        36

[image: image24.wmf]
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2 marks

13.
The children at Brook School collect computer vouchers.
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Altogether, they need 10000 vouchers to get a computer.


How many more vouchers do they need?

[image: image27.wmf][image: image28.wmf]vouchers


1 mark

14.
Some children do a sponsored walk.


The graph shows their results.
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How many children walked 21 laps or more?

[image: image30.wmf] [image: image31.wmf]
1 mark
15.
Here are the sunrise and sunset times for some days in July.

	Date
	Sunrise
	Sunset

	7 th
	04:53
	21:18

	14 th
	05:00
	21:12

	21 st
	05:09
	21:05

	28 th
	05:18
	20:55



How many minutes earlier is the sunset on 28th July than on 7th July?

[image: image32.wmf][image: image33.wmf]minutes


1 mark

16.
These graphs show data about Tom, Sam, Amy and Kiz.
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Use this data to write each child’s name in the correct region on the Venn diagram.


One has been done for you.
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2 marks

17.
Jordan, Anna and Ryan collect picture cards.


Cards are worth either 50 points or 100 points.


The table shows the cards they have.


Complete the table for Anna and Ryan.

	
	
	50 points
	100 points
	total number
of points

	
	Jordon
	5 cards
	2 cards
	450 points

	[image: image36.wmf]
	Anna
	3 cards
	[image: image37.wmf] cards
	550 points

	
	Ryan
	4 cards
	6 cards
	[image: image38.wmf] points


1 mark

18.
This graph shows the cost of phone calls in the daytime and in the evening.

[image: image39.png]
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How much does it cost to make a 9 minute call in the daytime?

[image: image41.wmf][image: image42.wmf]p


1 mark


How much more does it cost to make a 6 minute call in the daytime than in the evening?
[image: image43.wmf][image: image44.wmf]p


1 mark

19.
This table shows the weight of some fruits and vegetables.


Complete the table.
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2 marks

20.
Here are four triangles drawn on a square grid.
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Write the letter for each triangle in the correct region of the sorting diagram.


One has been done for you.
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2 marks

21.


[image: image50.png]




The table shows the cost of coach tickets to different cities.
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What is the total cost for a return journey to York for one adult and two children?

[image: image52.wmf][image: image53.wmf]£


1 mark


How much more does it cost for two adults to make a single journey to Hull than to Leeds?

[image: image54.wmf][image: image55.wmf]£


1 mark

22.
Put a tick ([image: image56.wmf]ü

) in each row to complete this table.


One has been done for you.
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2 marks

23.
Here is a diagram for sorting numbers.


Write these three numbers in the correct boxes.


You may not need to use all of the boxes.

9
17
20
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2 marks

24.
Here are two spinners, A and B.


Each one is a regular hexagon.
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For each statement, put a tick ([image: image61.wmf]ü

) if it is true.


Put a cross ([image: image62.wmf]û

) if it is not true.

[image: image63.wmf]

Scoring ‘1’ is more likely on A than on B.
[image: image64.wmf]

Scoring ‘2’ is more likely on A than on B.
[image: image65.wmf]

Scoring ‘3’ is as equally likely on A as on B.
[image: image66.wmf]
1 mark


Zara spins both spinners.


The score on A is added to the score on B.

She says,


’The sum of the scores on both spinners is 
certain to be less than 7’ .

Is she correct?
Circle Yes or No.
[image: image67.wmf]
Yes  /  No

Explain how you know.

[image: image68.wmf]
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1 mark

25.
Write these numbers in the correct places on the Venn diagram.


Some numbers are already placed.

99
170
221
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2 marks

26.


[image: image71.png]




A camping shop sells tents, sleeping bags and backpacks.


This chart shows how many of each they sold in June.

Items sold in June
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The shop had 20 sleeping bags at the beginning of June.


How many of these sleeping bags did the shop have left at the end of June?

    [image: image73.wmf]           1 mark


In July, the shop sold three times as many tents as in June.


How many tents did the shop sell in July?

[image: image74.wmf]
1 mark

27.
The spinner is divided into nine equal sections.
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Which two different numbers on the spinner are equally likely to come up?
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1 mark


Meera says,

‘2 has a greater than even chance of coming up’.

Explain why she is correct.

[image: image77.wmf]   ..........................................................................................................................
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1 mark

28.
This bar chart shows how many people went to a school play.
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Estimate the number of people who went there on
Thursday and Friday altogether.
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1 mark
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Each person paid £2.25 for a ticket to get in.


How much ticket money was collected on Wednesday?
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2 marks

29.
Five children collect money to plant trees.

[image: image82.png]




Here is a bar chart of the amounts they have raised so far.
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Their target is £40 altogether.


How much more money do they need to reach the target?
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2 marks

30.
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Emma parks her car at 9.30 am.


She collects the car at 1.20 pm.


How much does she pay?

[image: image87.wmf]
1 mark


Dan and Mark both use the car park.


Dan says,


‘I paid exactly twice as much as Mark but I only stayed 10 minutes longer’.


Explain how Dan could be correct.

[image: image88.wmf]
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.............................................................................................................
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1 mark

31.
Here are two bags.


Each bag has 3 white balls and one black ball in it.

[image: image89.png]




A ball is taken from one of the bags without looking.


What is the probability that it is a black ball?


Give your answer as a fraction.

[image: image90.wmf]
1 mark


All the balls from both bags are now mixed together in a new bag.

[image: image91.png]




Put a cross (x) on this line to show the probability of taking  a black ball from the new bag.

[image: image92.wmf]
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32.
Tom, Amy and Helen want to go on a boat trip.
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There are three boats.
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How much does it cost altogether for three people to go on the Lark?

[image: image96.wmf]£


1 mark


Tom and Amy go on the Heron. 


They leave at 2:15pm.


At what time do they return?
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Helen goes on the Kestrel and gets back at 4:15pm.


At what time did the boat leave?
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33.
Here is the calendar for August 1998.
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Simon's birthday is on August 20th.


In 1998 he had a party on the Sunday after his birthday.


What was the date of his party?

[image: image100.wmf]
1 mark


Tina's birthday is on September 9th.


On what day of the week was her birthday in 1998?

[image: image101.wmf]
……………………….

1 mark

34.
The pie chart on your answer sheet shows the favourite 
colours of one hundred and twenty children. Use the 
chart to estimate the number of children who chose red.

35.
Imagine you have this 10-sided spinner.

[image: image102.wmf]

How likely are you to spin these shapes on your first spin?


Draw lines.

	[image: image103.wmf]
	certain

	[image: image104.wmf]
	most likely

least likely

	[image: image105.wmf]
	impossible


1 mark

36.
When a coin is tossed the probability of heads is a half and the probability of tails is half.


The coin is tossed twice.


The first time the coin is tossed it lands heads.


Circle the value to show the probability that the coin lands heads the second time it is tossed?
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37.
The graph shows the journey of a hot-air balloon. [image: image107.png]
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(a)
At what height above the ground was the balloon after 10 minutes?
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1 mark

(b)
After how many minutes of the journey did the balloon begin to go down?
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38.
80 people were asked if they owned a pet.

30 had dogs
25 had cats
10 had other pets
15 had no pets

Complete the pie chart to show this information.
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2 marks

39.
Each of these bags is shaken.

[image: image112.wmf]K

e

y

s

p

o

t

t

y

w

h

i

t

e

b

l

a

c

k

B

a

g

 

A

B

a

g

 

C

B

a

g

 

B

B

a

g

 

D



John takes a ball from each bag without looking.


From which bag is the probability of taking a white ball the same as the probability of taking a black ball?

1 mark

40.
These are the marks from a spelling test.

Jay
16

Karen
13

Dominic
18

Tariq
13

Lara
12

Oliver
14

Gemma
19


What is the median number of marks?

1 mark

41.
Seven number cards are in a bag.
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Jill takes one card out and finds the total of the two numbers.
She then puts the card back in the bag.


This is a graph of Jill’s results after doing this 100 times.
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Give the reason why the ‘total 7’ never came up.
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1 mark

Give the reason why the ‘total 6’ came up most often.

[image: image117.wmf]
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1 mark
42.
This table shows the distances in kilometres between five towns.
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Use the table to find the distance from London to Manchester.
[image: image119.wmf]  [image: image120.wmf]k
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1 mark

James goes from Newcastle to Birmingham, and then on to Cardiff.

How many kilometres does he travel?
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2 marks
43.
Gavin was ill in March.

[image: image123.png]




This is his temperature chart.
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For how many days was his temperature marked as more than 37°C?

[image: image125.wmf]  [image: image126.wmf]
1 mark

Which date showed the largest change in temperature from the day before?

[image: image127.wmf]  [image: image128.wmf]
1 mark

Estimate Gavin’s highest temperature shown on the graph.


Give your answer to 1 decimal place.
[image: image129.wmf]  [image: image130.wmf]°
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1 mark
44.
Here are two spinners.
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Jill says,

“I am more likely than Peter to spin a 3.”


Give a reason why she is correct.

[image: image132.wmf]   Jill is correct because ...................................................................................
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1 mark


Peter says,

“We are both equally likely to spin an even number.”


Give a reason why he is correct.

[image: image133.wmf]   Peter is correct because ..............................................................................

......................................................................................................................

......................................................................................................................

1 mark

45.
This diagram shows the proportions of waste by weight a family throws away in one year,
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Estimate what fraction of the waste is organic.

[image: image135.wmf]   [image: image136.wmf]
1 mark


The family throws away about 35 kilograms of plastic in a year.


Use the diagram to estimate the weight of glass and metal they throw away.
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1 mark


The familly throws away 130 kg of paper and card.


70% of this is newspapers.


What is the weight of newspapers?
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2 marks

46.
This is what it costs to visit a castle.
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Helen is 10 years 9 months old.


How much will it cost Helen to visit?

[image: image142.wmf]     [image: image143.wmf]
1 mark


On one day the number of visitors was 
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Here is a graph to show the number of visitors.


Complete the scale for the axis called “Number of Visitors”. 
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1 mark
[image: image147.wmf]
How much will it cost for 18 children (under 11) to visit the castle?


You must show your working.

[image: image148.wmf]   [image: image149.wmf]
1 mark
47.
On sports day children get points for how far they jump.
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Joe jumped 138cm.


How many points does he get?
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1 mark

Sam said, “I jumped 1.5 metres.  I get 4 points”.

Give a reason why Sam is correct.

[image: image153.wmf]
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1 mark

Each child puts a cross on a line to show how far they jumped.


Sam puts her cross at 1.5 metres.


Lynn jumps 1.14 metres.


Put a cross on the line for Lynn’s jump.
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